
General Safety Information

WARNING
• Be careful not to let the cuffs of your clothes get caught in the chain while riding, otherwise you may fall off

the bicycle.
• Obtain and read the service instructions carefully prior to installing the parts. Loose, worn or damaged

parts may cause the bicycle to fall over and serious injury may occur as a result. We strongly recommend
only using genuine Shimano replacement parts.

• Obtain and read the service instructions carefully prior to installing the parts. If adjustments are not
carried out correctly, the chain may come off and this may cause you to fall off the bicycle which could result
in serious injury.

• Read these Technical Service Instructions carefully, and keep them in a safe place for later reference.

Note
• This front derailleur is for triple front chainwheel use only. It cannot be used with the double front

chainwheel, as the shifting points do not match.
• If gear shifting operations do not feel smooth, wash the derailleur and lubricate all moving parts.
• If the amount of looseness in the links is so great that adjustment is not possible, you should replace the

derailleur.
• When the chain is in the position shown in the illustration, the

chain may contact the front chainrings or front derailleur and
generate noise. If the noise is a problem, shift the chain onto
the next-larger rear sprocket or the one after if the chain is in
the position shown in Figure 1. Shift the chain onto the next-
smaller sprocket or the one after if it is in the position shown in
Figure 2.

• For frames with suspension, the chain stay angle will vary
depending on whether the bicycle is being ridden or not being
ridden. When the bicycle is not being ridden and the chain is positioned on the largest/larger chainring and
on the smallest sprocket, the chain guide outer plate of the front derailleur may touch the chain.

• Shimano does not provide the bottom bracket mount fixing bolts.
• For smooth operation, use the specified outer casing and the bottom bracket cable guide.
• Parts are not guaranteed against natural wear or deterioration resulting from normal use.
• For maximum performance we highly recommend Shimano lubricants and maintenance products.
• For any questions regarding methods of installation, adjustment, maintenance or operation, please contact a

professional bicycle dealer.
• Be sure to read the service instructions for the Front Drive System in conjunction with these service

instructions.

Set the height of the front derailleur. The flat section of the chain guide outer
plate should be directly above and parallel to the largest chainring. Secure
using a 5 mm allen key.

Installation of the front derailleur

Tightening torque : 
5 - 7 N·m {44 - 60 in. lbs.}

Chain guide

Chainwheel (largest chainring)

Pro-Set alignment
block

SIS Adjustment

Pro-Set alignment
block

Chain position

Largest 
sprocket

Smallest
chainring

SI-5N60A-001-00

Specifications

SI-5N60A-001 Technical Service Instructions

FD-T780 / FD-T781 Front derailleur

• FD-T780 / T781

One Holland, Irvine, California 92618, U.S.A.  Phone: +1-949-951-5003

Industrieweg 24, 8071 CT Nunspeet, The Netherlands  Phone: +31-341-272222

3-77 Oimatsu-cho, Sakai-ku, Sakai-shi, Osaka 590-8577, Japan

* Service Instructions in further languages are available at :
http://techdocs.shimano.com

Please note: specifications are subject to change for improvement without notice. (English)  
© Dec. 2010 by Shimano Inc. XBC SZK Printed in Japan.

2. Connecting and securing the
inner cable
Switch the mode converter to the 3x
(triple mode) position, and then
check the lowest position. Operate
lever B two times or more to set the
lever to the lowest position. Remove
the inner hole cover, and install the
cable.

Inner hole cover

Inner cable

Lever (B)

Note:
Do not force the mode select switch to turn. If you force it to
turn, it will break.

Mode converter

Mode select switch

Normal type

Top route type

Front chainwheel tooth difference

Min. difference between top and intermediate

Front derailleur installation band diameter

Chainstay angle (a)

Applicable chain line

X = Available

Chain

Chain guide
inner plate

Outer casing adjustment barrel

4. Adjustment of the intermediate
chainring
When carrying out adjustment, set the
chain to the largest sprocket, and at the
front, set the chain to the intermediate
chainring. Adjust using the outer casing
adjustment barrel so that the clearance
between the chain guide inner plate
and the chain is 0 - 0.5 mm.

Chain position

Largest 
sprocket

Intermediate
chainring

Note:
When installing the components to carbon frame/handle bar surfaces, verify with the manufacturer of the carbon
frame/parts for their recommendation on tightening torque in order to prevent over tightening that can cause
damage to the carbon material and/or under tightening that can cause lack of fixing strength for the components.

For bracket type
Install as shown in the illustration.

Bolt

AdapterAdapter

Front Derailleur

Front Chainwheel

1, 2 Tightening torque : 
35 - 50 N·m {305 - 435 in. lbs.}

3 Tightening torque : 
5 - 7 N·m {44 - 60 in. lbs.}

Install the front derailleur
as shown in the illustration.
At this time, adjust the
position of the front
derailleur while installing it
so that there is a clearance
of 1 - 3 mm between the
chain guide outer plate and
the maximum outer
diameter of the larger
chainring.

Chain guide outer plate

Maximum outer diameter

Pro-Set gauge

1~3mm
Clearance:

Applicable front chainwheel

Model number

X

X

22T

12T

50 mm

For triple chainwheel only (48-36-26T, 44-32-24T)

S, M, L

66° - 69° / 63° - 66°

S, M, L

66° - 69°

FD-T781FD-T780

Low adjustment
screw

Chain

Chain guide 
inner plate

FD-T781

FD-T780

Inner hole cover

Install the inner hole cover by turning it as
shown in the illustration until it stops.
Do not turn it any further than this, otherwise it
may damage the thread on the cover.

If the chain falls to the crank
side.

If shifting is difficult from the
intermediate chainring to the
smallest chainring.

Tighten the top adjustment screw
clockwise (about 1/4 turn).

Loosen the top adjustment screw
counterclockwise 
(about 1/8 turn).

Loosen the low adjustment screw
counterclockwise 
(about 1/4 turn).

If there is interference between
the chain and the front derailleur
inner plate at the largest
chainring.

If there is interference between
the chain and the front derailleur
outer plate at the largest
chainring.

Tighten the top adjustment screw
clockwise (about 1/8 turn).

Loosen the top adjustment screw
counterclockwise 
(about 1/8 turn).

If the intermediate chainring is
skipped when shifting from the
largest chainring.

Loosen the outer casing
adjustment barrel
counterclockwise (1 or 2 turns).

If the chain falls to the bottom
bracket side.

If the lever is stiff when shifting
from the intermediate chainring
to the largest chainring.

Tighten the outer casing
adjustment barrel clockwise 
(1 or 2 turns).

Tighten the low adjustment screw
clockwise (about 1/2 turn).

Loosen the top adjustment screw
counterclockwise (about 1/4
turn).

5. Troubleshooting chart
After completion of steps 1 - 4, move the shifting lever to check the
shifting. (This also applies if shifting becomes difficult during use.)

If the chain does not shift
smoothly from the intermediate
chainring to the largest chainring
even though the top adjustment
bolt has been adjusted.

Turn the outer casing adjustment
barrel about 1/4 of a turn
counterclockwise.

If the chain does not shift
smoothly from the intermediate
chainring to the smallest
chainring even though the low
adjustment bolt has been
adjusted.

Turn the outer casing adjustment
barrel about 1/4 of a turn
clockwise.

If there is interference between
the chain and front derailleur
inner plate when the rear
sprocket is shifted to the largest
sprocket when the chainwheel is
at the intermediate chainring
position.

If shifting is difficult from the
intermediate chainring to the
largest chainring.

Be sure to follow the sequence described below.
* If the bicycle has rear suspension, first check the recommended segment

position according to the owner's manual for the bicycle. Next, use a fixing
band or similar to set the rear suspension to the recommended stroke for
the rear suspension, and then adjust the front derailleur.

1. Low adjustment
First remove the Pro-Set alignment block.
Next, set so that the clearance between the chain guide inner plate and
the chain is 0 - 0.5 mm.

Front
chainrings

Fig.1 Fig.2

Rear
sprockets

Cutting the outer casing
When cutting the outer casing, cut the
opposite end to the end with the marking.
After cutting the outer casing, make the
end round so that the inside of the hole
has a uniform diameter.

Attach the same outer
end cap to the cut end of
the outer casing.

Outer end cap

After taking up the initial slack in the cable, re-secure to the front
derailleur as shown in the illustration.

Normal type Top route type

Pull

Pull

3. Top adjustment
Set so that the clearance
between the chain guide outer
plate and the chain is 0 - 0.5
mm.

Chain position

Smallest 
sprocket

Largest 
chainring

< Normal type >

• FD-T780

< Top route type >

8 mm spanner

Note: 
Pass the cable through as
shown in the illustration.

Wire fixing bolt

< Normal type >

• FD-T781
< Top route type >

5 mm Allen key

4 mm Allen key

Note: 
Pass the cable through as
shown in the illustration.

Wire fixing bolt

Chain

Chain guide
outer plate

Top adjustment
screw

FD-T781

FD-T780

Use an 8 mm spanner or a 4 mm Allen key to tighten the wire
fixing bolt.

Tightening torque :
6 - 7 N·m {52 - 60 in. lbs.}



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /KOR <FEFFd5a5c0c1b41c0020c778c1c40020d488c9c8c7440020c5bbae300020c704d5740020ace0d574c0c1b3c4c7580020c774bbf8c9c0b97c0020c0acc6a9d558c5ec00200050004400460020bb38c11cb97c0020b9ccb4e4b824ba740020c7740020c124c815c7440020c0acc6a9d558c2edc2dcc624002e0020c7740020c124c815c7440020c0acc6a9d558c5ec0020b9ccb4e000200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /CHS <FEFF4f7f75288fd94e9b8bbe7f6e521b5efa76840020005000440046002065876863ff0c5c065305542b66f49ad8768456fe50cf52068fa87387ff0c4ee563d09ad8625353708d2891cf30028be5002000500044004600206587686353ef4ee54f7f752800200020004100630072006f00620061007400204e0e002000520065006100640065007200200035002e00300020548c66f49ad87248672c62535f003002>
    /CHT <FEFF4f7f752890194e9b8a2d5b9a5efa7acb76840020005000440046002065874ef65305542b8f039ad876845f7150cf89e367905ea6ff0c4fbf65bc63d066075217537054c18cea3002005000440046002065874ef653ef4ee54f7f75280020004100630072006f0062006100740020548c002000520065006100640065007200200035002e0030002053ca66f465b07248672c4f86958b555f3002>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


